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e Fill in the boxes at the top of this page.

s Answer all questions.

e You must answer the questions in the space provided. Do not write
outside the box around each page or on blank pages.

¢ Do all rough work in this book.

Information

e The marks for questions are shown in brackets.

e The maximum mark for this paper is 66.

e The quality of your written communication is specifically assessed in

Questions 3, 14 and 15. These questions are indicated with an asterisk (*).

e You may ask for more answer paper and graph paper. These must be
tagged securely to this answer book.

Advice
¢ In all calculations, show clearly how you work out your answer.

L0 OO A

WMP/Nov14/43602F/E4

Examiner's Initials

Pages Mark
BB
4-5
=7
6—9
10 -11
12-13
14 -15
16
TOTAL

43602F



2 Da not write
outside the

box
Answer all guestions in the spaces provided.
1 Here are four cards.
1 (a) Write down the value of the digit 5 in the number 5348
[1 mark]
PIVEWET ....ome s snmmsmsssss snsonnsdsaiss s eises 5 F ERE RPN s n
1 (b) Write the number 5348 to the nearest hundred.
[1 mark]
AATVEWRE: o coucninvmny cussvasis b o ad s s s S TN 4 54
1 (c) What is the largest number you can make using all four cards?
[1 mark]
PAIVEWBIT 5 e 0 PR S P T T B L S
1 (d) What is the smallest odd number you can make using all four cards?
[1 mark]
ANSWET 1ottt e
02 WMP/Nov14/43602F



3 Do not write

outside the
box
2 (a) Circle the multiple of 7
[1 mark]
13 22 27 35
2 (b) Circle the factor of 36
[1 mark]
8 12 19 72
2 (c) Circle the number that is not a square number.
[1 mark]
64 36 121 48
Turn over for the next question
7
Turn over p

I
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*3 (a)

3 (b)

Bottles of milk cost 65p each.

Work out the cost of four bottles.

Molly pays for the 4 bottles of milk with a £5 note.

How much change should she get?

[2 marks]

M

WMP/Nov14/43602F
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5 Do not write
outside the

box
4 (a) Write 30% as a fraction.
[1 mark]
ANISWEL ooiiiiieieeieee it e e e
4 (b) Write 80% as a decimal.
[1 mark]
BSWEL omessverniss s s s i vt s e s
4 (c) Circle the two values that are equivalent to %
[2 marks]
66 : g 66
100 0.6 60% 99 0.6
Turn over for the next question
7
Turn over p
H"”Ll 5 WMP/Nov14/43602F




5 Three bags each contain the same number of discs.

2 discs are taken out of one of the bags.
There are now 5 discs in this bag.

Work out the total number of discs that are now in the three bags.

[2 marks]
ANSWET iisiiisvimsiserivsmivist v e v s assasin s el v
6 A sequence begins 1 6 16
The rule for the sequence is
Double the previous term and add 4
Work out the next two terms in the sequence.
[2 marks]
ANSWET v and ..o,
0D 6 WMP/Nov14/43602F

Do not write
outside the
box



7 Asif has ten coins.
He has only 10p, 20p and 50p coins.

The ten coins total £3.20

Work out how many of each coin he has.

Da not write
outside the
box

[3 marks]
ANSWET . ossiisirsssssmmmivsmsnas s i mmsss g 10p coins
...................................................... 20p coins
...................................................... 50p coins
8 (a) Simplify 2f+ 3e + 4f
[1 mark]
DNEWET sris s simr oot oo v T R S S
8 (b) Solve x=7=29
[1 mark]
S U OO SOOI
9
Turn over p-

W
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8 Do not write
outside the

box
9 A recipe needs 300 grams of flour to make 4 cakes.
9 (a) How much flour is needed to make 6 cakes?
[2 marks]
ANSWET oo e, grams
9 (b) 1 kg = 1000 grams
How many cakes can be made from a 1.5 kg bag of flour?
[3 marks]
PVSVET | syonimssasn coassns s 7 b s b s oo s s 0N s S
’I mﬂl 8 WMP/Nov14/43602F



9 Do not write
outside the

box
10 Students are put into 9 groups.
5 groups each have 24 students.
The other 4 groups have an equal number of students.
Altogether there are 204 students.
How many students are there in each of the other 4 groups?
[3 marks]
ANSWEL ettt ettt
11 (a) Write down the value of 102
[1 mark]
PAISIWIBT vy oo o0 o i s 3 A 0
11 (b) Work out the value of 0.4x0.2
[1 mark]
ANSWET oo
10
Turn over p
09 WMP/Nov14/43602F




Do not write
1 0 outside the
box

12 (a) Complete the table of values for y=3x+2

[2 marks]

12 (b) On the grid draw the graph of y=3x+2 for values of x from -2 to 2
[2 marks]

YA

A

12 (c) Work out the gradient of the line y=3x+2
[1 mark]

TSI v s ee oo es oo ess s S SR R VR B T ST B E

M
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™ il
box
13 There are 32 packets of crisps in a box.
Millie buys 5 boxes for a total of £48
She sells 140 packets for 40p each.
She then sells the rest of the packets at a reduced price.
She makes a total profit of £13.80
Work out the reduced price of each packet.
You must show your working.
[5 marks]
ANSWET vttt pence
Turn over for the next question
10
Turn over p-
11 WMP/Nov14/43602F




12
14 (a) Factorise K +x
[1 mark]
PATIEWET ovousissssnssnssnssannmns pranssmsss sa8 8888884888 EEHEE iR ne nersumonen
14 (b) Work out the value of 2+ x when x =-3
[2 marks]
ANSWEL ..o e e
*14 (c) n is an odd number.
Tick the correct statement.
n?+n is always odd
n2+n is always even
nl+n could be odd or even
Give a reason for your answer.
[2 marks]
‘ ‘llml Hl‘lzﬂlk ‘ll‘ WMP/Nov14/43602F

Do not write
outside the
hox



13 Do not write

*15 Dipen and Nisha are planning their wedding reception.

£40 per guest

Total reduced by 5% with over 60 guests

Nisha says, “l want to invite 70 guests.”
Dipen says, “If we invite one-fifth fewer guests, we will save more than £500”

Is Dipen correct?

You must show your working.
[6 marks]

outside the
box

Turn over p

WMP/Nov14/43602F
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14

16 This sequence of patterns is made using sticks.
Pattern 1 Pattern 2 Pattern 3
16 (a) Complete the table for Pattern 4 and Pattern 5
Pattern 1 2 3 4 5
Number of sticks 5 9 13
[1 mark]
16 (b) Work out the nth term of the sequence b 9 13
[2 marks]
y 4 Loy TR ————
16 (c) Which pattern is made using 53 sticks?
[2 marks]
DNSWET | svisivirsismsss sovsnahins o siss s e S e i
1 &4 WMP/Nov14/43602F
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Do not write
1 S outside the

box
17 Expand and simplify 3(2x +5)—2(x—4)
[3 marks]
BISWET e i s R T e
Turn over for the next question

8

Turn over b

15 WMP/Nov14/43602F




16

18 (a) Solve 5x—11=129

18 (b) Show the solution of 3Ix <12 on the number line.

Y

END OF QUESTIONS

Copyright ® 2014 AQA and its licensors. All rights reserved.

[2 marks]

[2 marks]

Do not write
outside the
box

A
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Mark schemes are prepared by the Lead Assessment Writer and considered, together with the
relevant questions, by a panel of subject teachers. This mark scheme includes any amendments
made at the standardisation events which all associates participate in and is the scheme which was
used by them in this examination. The standardisation process ensures that the mark scheme covers
the students’ responses to questions and that every associate understands and applies it in the same
correct way. As preparation for standardisation each associate analyses a number of students’
scripts: alternative answers not already covered by the mark scheme are discussed and legislated for.
If, after the standardisation process, associates encounter unusual answers which have not been
raised they are required to refer these to the Lead Assessment Writer.

It must be stressed that a mark scheme is a working document, in many cases further developed and
expanded on the basis of students’ reactions to a particular paper. Assumptions about future mark
schemes on the basis of one year's document should be avoided; whilst the guiding principles of
assessment remain constant, details will change, depending on the content of a particular
examination paper.

Further copies of this Mark Scheme are available from aga.org.uk

Copyright © 2014 AQA and its licensors. All rights reserved.

AQA retains the copyright on all its publications. However, registered schools/colleges for AQA are permitted to copy material from this
boaklet for their own internal use, with the following important exception: AQA cannot give permission to schools/colleges to photecopy any
material that is acknowledged to a third party even for internal use within the centre.



MARK SCHEME - GENERAL CERTIFICATE OF EDUCATION MATHEMATICS - 43602F — NOVEMBER 2014

Glossary for Mark Schemes

GCSE examinations are marked in such a way as to award positive achievement wherever
possible. Thus, for GCSE Mathematics papers, marks are awarded under various categories.

M

A

ft

SC

Mdep

Bdep

oe

[a, b]
< P

Use of brackets

Method marks are awarded for a correct method which could
lead to a correct answer.

Accuracy marks are awarded when following on from a correct
method. It is not necessary to always see the method. This can
be implied.

Marks awarded independent of method.

Marks awarded for Quality of Written Communication

Follow through marks. Marks awarded for correct working
following a mistake in an earlier step.

Special case. Marks awarded within the scheme for a common
misinterpretation which has some mathematical worth.

A method mark dependent on a previous method mark being
awarded.

A mark that can only be awarded if a previous independent mark
has been awarded.

Or equivalent. Accept answers that are equivalent.

eg, accept 0.5 as well as %

Accept values between a and b inclusive.
Allow answers which begin 3.14 eg 3.14, 3.142, 3.149.

It is not necessary to see the bracketed work to award the marks.

30f18
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Examiners should consistently apply the following principles

Diagrams

Diagrams that have working on them should be treated like normal responses. If a diagram has been
written on but the correct response is within the answer space, the work within the answer space should be
marked. Working on diagrams that contradicts work within the answer space is not to be considered as
choice but as working, and is not, therefore, penalised.

Responses which appear to come from incorrect methods

Whenever there is doubt as to whether a candidate has used an incorrect method to obtain an answer, as a
general principle, the benefit of doubt must be given to the candidate. In cases where there is no doubt that
the answer has come from incorrect working then the candidate should be penalised.

Questions which ask candidates to show working

Instructions on marking will be given but usually marks are not awarded to candidates who show no working.

Questions which do not ask candidates to show working

As a general principle, a correct response is awarded full marks.

Misread or miscopy

Candidates often copy values from a question incorrectly. If the examiner thinks that the candidate has
made a genuine misread, then only the accuracy marks (A or B marks), up to a maximum of 2 marks are
penalised. The method marks can still be awarded.

Further work

Once the correct answer has been seen, further working may be ignored unless it goes on to contradict the
correct answer.

Choice

When a choice of answers and/or methods is given, mark each attempt. If both methods are valid then
M marks can be awarded but any incorrect answer or method would result in marks being lost.

Work not replaced

Erased or crossed out work that is still legible should be marked.

Work replaced

Erased or crossed out work that has been replaced is not awarded marks.

Premature approximation

Rounding off too early can lead to inaccuracy in the final answer. This should be penalised by 1 mark
unless instructed otherwise.

4 of 18
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Q Answer Mark Comments
5000 or five thousand
1(a) or (5) thousand or five thousands B1
or (5) thousands
1(b) 5300 B1
1(c) 8543 B1
1(d) 3485 B1
2(a) (35 B1 any clear indication
2(b) |12 B1 |any clear indication
2(c) |48 B1 any clear indication
3(a) 4 x 65 or 260 - oe
or 4 x 0.65 or 2.6(0)
Strand (i) must have correct units
(£)2.60 Q1
do not accept 2.60p or 260p or 2.6
3(a) Additional Guidance

(£)2.60p or 260p or 2.6 M1

50f18
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3(b)

(£)2.40 B1ft  |ft from their 2.60

3(b)

Additional Guidance

Accept 240p with £ sign crossed out B1

Accept 2.40p B1

Do not allow 2.4

Allow ft from £2 in part (a)

4(a)

= i B1 oe any equivalent fraction eg 1—5— , i

— or
100 10 50 20

4(a)

Additional Guidance

Accept equivalent fractions such as ) , 8 etc
50 20

Do not accept decimal answer such as 0.3, 0.30 etc.

Note: % in working with % on answer line is B1

4(b)

0.8 or 0.80 B1 oe decimal

4(b)

Additional Guidance

Accept 0.8, 0.80, 0.800, 0.8000 etc

Do not accept fraction answer such as 20 ; L etc
100 10

4(c)

B1 one correct

66 or one correct and one incorrect

0.6 and = B2
99 .
or two correct and one incorrect

any clear indication

60of 18
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7 seen or 21 seen 7 M1

19 A1

Additional Guidance

Seven discs drawn in a bag is equivalent to 7 seen

2x16+4

or32+4 or 36

or 16 + 20

or 2 x their 36 + 4

or 72+4

or their 36 + 40 or 76

M1

36 and 76 A1

Additional Guidance

32 and 68 without working (from 2 x their 36 + 4) M1 AO

36 and 72 M1 AO

7 of 18




MARK SCHEME — GENERAL CERTIFICATE OF EDUCATION MATHEMATICS - 43602F — NOVEMBER 2014

B2

or

any 10 coins totalling £3.20
eg 6 x 20p, 4 x 50p
eg 4x5p 6x50p

any combination of 50p, 20p and 10p
coins totalling £3.20

eg 2x10p, 5x20p, 4 x 50p
30p, 40p and £2.50 on answer lines

3 10p coins or =
without correct number of coins seen
7 2 20p coins B3
5 50p coins
B1 any number of coins totalling £3.20
eg 2x%5p,1%10p, 6 x 50p
eg 1x10p, 3 x 20p, 5 x 50p
or 10 coins using any combination of 50p,
20p and 10p coins totalling £3.00 or
£3.10 or £3.30 or £3.40
eg 2x10p, 3 x20p, 5x50p
7 Additional Guidance
10 coins using combination of 10p, 20p and 50p coins totalling £3.00, £3.10, £3.30 or £3.40
1 10p 2 10p 4 10p 1 10p 2 10p B1
2 20p 3 20p 1 20p 5 20p 4 20p
5 50p 5 50p 5 50p 4 50p 4 50p
8(a do not accept further workin
(a) 6f+3e  or e+ 6f B1 , ; 2
' eg 6/+3e=9fe
8(b) |36 B1
8(b) Additional Guidance

Do not allow embedded answer to score any marks without correct answer 36 on answer

8 of 18
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9(a)

300+4 or 75 oe
or 300x1.5 any correct scaling
2 cakes = 300 + 2 or 2 cakes = 150 M1
or
12 cakes = 300 x 3 or 12 cakes = 900
450 A1

90f18
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9(b) Alternative method 1

(1.5 kg =) 1500 (g)

B1 seen or implied
or 300g=0.3kg or 150g=0.15kg

their 1500 + their 75 oe
or6 (+)6(+)6 (+)2 M1
or5x4 or 4(+)4(+)4(+)4(+)4

20 A1 SC2 14 cakes from 1050g

Alternative method 2

(1.5 kg =) 1500 (g)

B1 seen or implied
or 300g=0.3kg or 150g=0.15kg

build up values if correct:

Build up method to total number of 4 cakes = 300(g)
cakes from their 1500 with one error M1 8 cakes = 600(g)
12 cakes = 900(g)
16 cakes = 1200(g)

20 A1 SC2 14 cakes from 1050g

Additional Guidance

9(b)
1500(g)
4 cakes = 300(g)
8 cakes = 600(g)

16 cakes = 900(g) (one error)
24 cakes = 1500(qg)

Answer 24 cakes is BIM1AO

1000(g) uses incorrect total of flour (misread)
4 cakes = 300(g)
8 cakes = 600(g)
12 cakes = 900(g)

Answer 12 cakes (one error — should be 13 cakes) is BOM1AQ

10 of 18
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10 5x24 or 120 M1
204 — their 120 or 84 M1dep
21 A1
10 Additional Guidance
(204 — 24) and 180 + 4 =45 is MO
11(a) |[1000 B1
11(b) |0.08 B1 oe

Additional Guidance

11(b)
Accept use of comma eg 0,08
2 4 8 80 800
Accept 0 I co Er E o T Eo O Fos OF 0.080 or 0.0800
12(a) |4, 2, 8 B2 B1 for two correct
12(b) | Two of their points plotted correctly M1 ignore incorrect points
Fully correct straight ruled line A1
from (-2, -4) to (2, 8)
12(b) Additional Guidance

Lines must be clearly drawn with a ruled line

11 0f 18
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12(c) |3 B1
12(c) Additional Guidance
% on answer line is B1
13 5x 32 or 160 M1
their 160 — 140 or 20 M1dep |oe
140 x 0.40 or 56 M1 oe
or 140 x 40 or 5600
or 48 + 13.80 or 61.80
13.80 — (their 56 — 48) M1dep |oe
or 5.8(0) dependent on 3 method mark
or 1380 — (their 5600 — 4800)
or 580
29 A1l
13) Additional Guidance
Accept £0.29 with £ sign on answer line for B1

12 of 18




MARK SCHEME - GENERAL CERTIFICATE OF EDUCATION MATHEMATICS — 43602F — NOVEMBER 2014

14(a) |x(x +1) B1

14(a) Additional Guidance

Accept (x +1)x Bl

x(x +1 condone missing final bracket B1

14(b}) Alternative method 1

oe

N M1

s @i ¥ seen do not accept if 9 is the final answer
6 A1l SC1 -12

Alternative method 2

3% -2 M1 use of factorisation from part (a)

6 A1 SC1 12

14(b) Additional Guidance

Do not accept 6 from3+3=6 MOAOQ

13 of 18
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14(c) Alternative method 1

n’ + n is always even B1 any clear indication

odd x odd = odd or odd? = odd
and Q1

odd + odd = even

Strand (i)

fully correct reason

Alternative method 2

n* + n is always even B1 any clear indication

(nis odd, so) n + 1 is even Strand {ii)

and Q1 fully correct reason

odd x even = even use of factorisation from part (a)

14(c) Additional Guidance

Ignore further working unless a clear contradiction

14 of 18
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15 70 x 40 or 2800 M1 (Nisha)
. 5 . oe
their 2800 — x their 2800
100 M1idep |{(Nisha)
or 2800 - 140 or 2660
1 oe
70+5 orngO or 14 i
vy | (Dipen)
4
or — x 70 or 56
5
their 14 x 4 x 40 or 56 x 40 oe
or 70 x 40 — their 14 x 40 dependent on 3™ method mark
. . M1dep | (Dipen)
or their 2800 — their 14 x 40
or 2240
2660 and 2240 Al
Strand (iii)
420 and No Q1ft | correct comparison for their values, with at
least one correct value
15 Additional Guidance

2800 — 140 implies minimum first and second Method marks

2800 — 560 implies minimum third and fourth Method marks

150f 18
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16(a) |17 and 21 B1
16(b) oe
4n + 1 B2
B1 4n (2 k)
16(b) Additional Guidance
4xn+1 is B2
4xn (+k) is B1
16(c) Alternative method 1
4n+1 =53 or 4n =52 M1
13 A1
Alternative method 2
oe
(53-1)+4 M1 eg 1+4+4+4 +4+4+4+4
+4+4+4 +4+4+4(=53)
13 A1

Alternative method 3

oe
Counts up in 4s to within 4 of 53 M1
allow one error or omission

13 A1

16(c) Additional Guidance

5, 9, 13, 17, 21, 25, 29, 33, 37, 41, 45, 49
Answer 12 is M1AQ

5, 9, 13, 17, 25, 29, 33, 37, 41, 45, 49
Answer 12 is M1AO0

5, 9, 13, 17, 21, 24, 28, 32, 36, 40, 44, 48
Answer 12 is M1AQ

16 of 18
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17 Bx+15—-2x+8 M1 allow one error
Bx+15-2x+38 A1l fully correct
do not ignore fw
4x + 23 At
SC2 4x+7
17 Additional Guidance

Do not allow fw eg. 4x + 23 = 27x score A0 for final accuracy mark

Allow fw in trying to solve equation after 4x + 23 seen to score A1 for final accuracy mark

6x+15-2x-8
4x +7 is M1 AD A1ft
4x + 7 alone on answer line is SC2

Two independent expanded brackets (shown one underneath the other)
6x + 15

2x-8

with 4x + 23 on answer line is M1 A1 A1

Two independent expanded brackets shown remotely (same ling)
6x + 15 2x-8

with 4x + 23 on answer line is M1 A1 A1

Two independent expanded brackets shown remotely without correct answer on answer lines
scores zero marks

6x + 15 2x -8
with answer line blank is MO AO AO

17 of 18
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5x = 29+ 11 oe
orx ——=> 23
B M1
40
18(a) or x = ?
x=8 A1 SC1 8
SC1 x > 3.6 or xZB%
B1 x <4
< or <
18(b) B2
4 4
condone missing arrow for B2 or B1
18(b) Additional Guidance

Intention must be clear to indicate x <4 with minimum of a line drawn to the left of hollow

circle positioned at 4.

%

4
Is B2
’ implies
4
is B1

18 of 18




